Math 233 - Quiz 4 Name Let()
February 17, 2022 Score

Show all work to receive full credit. Supply explanations when necessary. This quiz is due
February 22.

1. (2 points) A particle is moving along the graph of 7(t) = te™7 + 25+ 2tk. Set up
the definite integral that gives the length of the path of the particle over the interval
1 <t < 2. Use technology to approximate the value of your integral.
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2. (2 points) Let 7(t) = —6t2 + (3> +3) 7+ 7k for t > 1. Reparameterize 7 in terms of _
the arc-length parameter. '
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3. (2 points) Determine the curvature of the graph of y = Inz at the point where z = 1.
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4. (2 points) Determine the curvature of the graph of 7(t) = (2cost)i + (3sint) 7 at the
point (0,3) (that is, the point where t = 7/2).
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5. (2 points) Let 7(t) = 24 + 4t? 5. Compute N(1).
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